PART A— MULTIPLE CHOICE
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3. Find the coordinates of point W, which divides UV in a ratio o@?
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4. Find (x, y) given that point M is the midpoint of LN.
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S Consider the following system of equations:
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What is the solution to this system?
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6. Consider triangle RSV shown at right.
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PART B - SHORT ANSWER

r 5 Find the x-intercept and y-intercept of the line represented by the following
equation:
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8. What is the area of the triangle below?
Round your answer to the nearest tenth.
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What is the measure of obtuse angle C?
Round your answer to the nearest tenth.
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Part B

The x-interceptis (_" 34 , O )

The y-interceptis(_ © , 2\ )

The areais Zc0 , | m?>

Angle C measures ___' 2.9 degrees



